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(+10) +(=30) =
(—=10) + (=70) =
(—87)+(+1)=
(-14.5) +(-6.5) =

(+1)+(-4)-

(+20)+ ] =(+17)
(+22) + (=4)+ [ = (+15)
(=6)+(+7)+ [ =(-8)

(+15)+(=20)+[] =0
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A LN ) gls 1)

(<) (+10) +(—6) = ()
(2) (=10) +(+70) = (z)
(3) 0+(—993) = (=)
() (-87)+(-1)= (J)
(&) (+124)+(-31)= (&)
o gled e lshasi S [] W ilhe | gua (2)
(<) (+20)+[J=0 ()
(3) (+20)+ [ =(-2) (®)
(3) (—4)+(=5)+=(-10) (&)
) (+11)+(-9)+ [ =1 (3)

e Jeu) BB s (4)

H17) +(+89) +(=30) + (17) = ()

7)+(+36)

+(-73)+(-30)=

(
(+6)+(-16) +(-4) +(-2)=
(2
(+12.4)+(=3.8) +(-104)+(-22) =

(<)
()
(3)
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